'IB Math SL
Chapter 6 Review for Test

1. Find the sum of the arithmetic series
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3. In an arlthmetlc sequence the first three terms are X+5, 3x + 8 4x+14 Find the value of x.

4, In a' geometric sequence, the 5™ term is 8 and the 9" term is 40.5. Find the possible value(s) for the
common ratlo
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- Give your answers to parts (b) and (c) correct to

Ashley and Billie are swimmers training for a competition.

(@) Ashley trains for 12 hours in the first week. She decides to increase the amount of time she

spends training by 2 hours each week. Find the total number of hours she spends training
during the first 15 weeks.

(b) - Billie also trains for 12-hours in the first week. She decides {o train for 10% longer each week
than the previous week, ‘

(i)~ Show that in the third week she trains for 14.52 hours.
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(i) - Find the total number of hours B{le spends tram g durmg the first 15 weeks.
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tc) In which week will the time Billie spends training first exceed 50 hours?
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The Acme insurance company sells two savings plans Plan A and Plan B. For Plan A, an investor starts
with an initial deposit of $1000 and increases this by $80 each month, so that in the second month,
the deposit is $1080, the next month it is $1160 and so on.

For Plan B, the investor agam starts with $1000 and each month deposits 6% more than the prevnous
month.

(a) Write down the amount of money invested under Plan B in the second and third months.
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(b) ’Fmd the amount of the
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(i)~ under Plan B.
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